
下位のbitで設定、例：00,20,40,50(赤文字の部分の値)
階

2271 サスーン左の塔 1
2272 サスーン左の塔 2
2273 サスーン左の塔 4
2275 サスーン左の塔 3

2274 さいだんのどうくつ 3
22cd さいだんのどうくつ 1
22ce さいだんのどうくつ　右の小部屋 1
22cf さいだんのどうくつ 2
22d2 さいだんのどうくつ　B3Fから 2

22da オーエンのとう 1
22db オーエンのとう 1 2
22dc オーエンのとう 2
22dd オーエンのとう 3
22de オーエンのとう 4
22df オーエンのとう 5
22e0 オーエンのとう 6
22e1 オーエンのとう 7
22e2 オーエンのとう 8
22e3 オーエンのとう 9
22e4 オーエンのとう 10

22c3 ミスリルこうざん 1
22c4 ミスリルこうざん 2

22c9 ほのおのどうくつ 1
22ca ほのおのどうくつ 2
22cb ほのおのどうくつ 3 1
22cc ほのおのどうくつ 3 2
22f3 ほのおのクリスタル

22bf ネプトのしんでん 1
22c0 ネプトのしんでん 左の小部屋 2 1
22c1 ネプトのしんでん 右の小部屋 2 2
22c2 ネプトのしんでん 右の小部屋 3 1

22c5 ふういんのどうくつ 1
22c6 ふういんのどうくつ 2 1
22c7 ふういんのどうくつ 2 2
22c8 ふういんのどうくつ 3 1

22d2 ちていこ 1 1
22d3 ちていこ 1 2
22d4 ちていこ 2 1
22d5 ちていこ 2 1

22d9 トーザスのぬけみち 1 行き
2315 トーザスのぬけみち 2 行き
22d6 トーザスのぬけみち 2 帰り
22d7 トーザスのぬけみち 1 帰り

22e6 ハインのしろ 2 1
22e7 ハインのしろ 2 2



22e8 ハインのしろ　上の小部屋 3 5
22e9 ハインのしろ　まどうしハイン
22ea ハインのしろ　上の小部屋から 3 6
22eb ハインのしろ 3 1
22ec ハインのしろ 4 1
22ed ハインのしろ 5 1
22ee ハインのしろ　左の小部屋 3 2
22ef ハインのしろ　中央の小部屋 3 3
22f0 ハインのしろ　右の小部屋 3 4

22f2 かぜのクリスタル

22fa バハムートのどうくつ 1 行き
2303 バハムートのどうくつ 2 行き
2304 バハムートのどうくつ 3 行き
2305 バハムートのどうくつ 3 帰り
2306 バハムートのどうくつ 2 帰り
2308 バハムートのどうくつ 1 帰り

22f5 ドールのみずうみ 1
22f7 ドールのみずうみ 2
22f8 ドールのみずうみ 3
22f9 ドールのみずうみ 4


